## WEST BENGAL MEDICAL SERVICES CORPORATION LTD

(Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09

Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake

Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

Name of work: Emergency repairing work for rain water leakage from the joint of HVAC duct and wall at terrace of Gopiballavpur Super-Speciality Hospital, and Emergency repairing work of granite slab in reception of USG area & lift lobby-1, repairing work of 3 nos. aluminium window glass & frame (female ward-3rd & 4th floor) at Nayagram Super-Speciality Hospital in the district of Jhargram.

## **NOTICE INVITING TENDER**

Memo No: WBMSCL/NIT- 388 /2021 Dated - 25/11/2021

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of similar nature of work for the work "Emergency repairing work for rain water leakage from the joint of HVAC duct and wall at terrace of Gopiballavpur Super-Speciality Hospital, and Emergency repairing work of granite slab in reception of USG area & lift lobby-1, repairing work of 3 nos. aluminium window glass & frame (female ward-3rd & 4th floor) at Nayagram Super-Speciality Hospital in the district of Jhargram".

The details may be available at Notice Board of WBMSCL & website <a href="www.wbmsc.gov.in">www.wbmsc.gov.in</a> and to be submitted (offline) on or before 1:00 P.M. on 03/12/2021 at Site Office of WBMSCL at Gopiballavpur and Nayagram SSH.

No of Site	2 no.				
Estimated Amount	47357.00				
Bid Security/EMD	The bidder will have to deposit earnest money Rs. 948.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd").				
Security Deposit	3% of the contract amount to be deducted from the Bill for each work.				
Releasing of Security Deposit	One year from the date of completion of work				
Tender Publication Date	26/11/2021				
Last date of Submission of Tender	03 /12/2021 Upto 1:00 PM				
Date of Opening of Tender Document	03/12/2021 at 01:30 PM				
Validity of Quotation	120 days from the date of opening of the financial bid of the tender.				

Time allowed for completion of Work	7 days from the date of Work order for the work
Eligibility of participating bidder	Bonafied reliable and resourceful firm having executed similar nature of Work.  Intending tenderers should produce credentials of a similar nature of completed work of the minimum value of 40% of the estimated amount put to tender.
Bid opening Venue	Site office of WBMSCL at Gopiballavpur and Nayagram SSH

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

**Documents comprising the bid:** (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

## The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2020-21.
- d. Experiencein similar field.
- E. Duly signed NIT.
- F. Civil work related Trade License for FY-2021-2022.

## The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

ESTIMATE FOR EMERGENCY REPAIRING WORK FOR RAIN WATER LEAKAGE FROM THE JOINT OF HVAC DUCT AND WALL AT TERRACE OF GOPIBALLAVPUR SUPER-SPECIALITY HOSPITAL, AND EMERGENCY REPAIRING WORK OF GRANITE SLAB IN RECEPTION OF USG AREA & LIFT LOBBY-1, REPAIRING WORK OF 3 NOS ALUMINIUM WINDOW GLASS & FRAME(FEMALE WARD-3RD & 4TH FLOOR) AT NAYAGRAM SUPER-SPECIALITY HOSPITAL IN THE DISTRICT OF JHARGRAM

SI No	Description of Items	Total Quantity	Unit	Rate	Amount
1	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	104.640	Sq.M.	₹ 21.49	₹ 2,249.01
2	Supplying and laying Polythene Sheet (150gm / sq.m.) over damp proof course or below flooring or roof terracing or in foundation or in foundation trenches.	104.640	Sq.M.	₹ 27.15	₹ 2,840.85
3	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] (iii) With 1:3 cement mortar (a) 20 mm thick plaster	104.640	Sq.M.	₹ 238.68	₹ 24,975.81
4	b) Applying 2 coats of Non-Toxic Acrylic Polymer modified Paint having adhesive & waterproofing properties by mixing in proportion (1 liquid: 4 cementitious material) or as per manufacturer's specification for water proofing layer in water tank etc. (No Departmental Cement is required)	00.000		7 000 70	7 0 070 00
5	Stripping off worn out plaster and raking out joints of walls, celings etc. upto any height and in any floor including removing rubbish within a lead of 75m as directed.	28.800 1.255	Sq.M.	₹ 290.72 ₹ 21.49	₹ 8,372.69 ₹ 26.97
6	Supplying, fitting & fixing granite slabs 15mm to 18 mm. thick with uniform texture & without decorative veins in columns, wall, facia,rise etc. with 15 mm thick [avg] cement mortar (1:2) including making suitable arrangements to hold the stones properly by brass / copper hooks including pointing in cement mortar (1:2) (1 white cement : 2 marble dust) with admixture of pigment matching the stone shades all complete as per direction of the Engineer-in-charge including cost of all materials, labours, scaffolding, staging, curing and roughening of concrete surface complete. [Using cement slurry at back side of granite @ 4.4 kg/sq.m & white cement slurry for joint filling @ 1.8 kg/sq.m] In ground floor (a) Area of each Granite slab 0.6 to 1.0 Square meter.	0.805	Sq.M.	₹ 3,760.11	₹ 3,026.89
7	Supplying, fitting & fixing granite slab 15mm to 18mm thick in floor, lobby, stair, landing and treads etc. over 20mm (avg) thick base of cement morter (1:2) laid with white cement slurry @ 4.40Kg per Square meter before placing of granite and jointed with white cement slurry @ 2.0 Kg per square meter with necessary pigments and complete as per direction of Engineer-in-charge including cost of all materials, labours, curing and roughening of concrete surface complete.  In ground floor. (a) Area of each Granite slab upto 0.60 Square meter	0.450	Sq.M.	₹ 2,732.98	₹ 1,229.84
8	Supplying bubble free float glass of approved make and brand conforming to IS: 2835-1987 vi) 6mm thick coloured / tinted / smoke glass	3.040	Sq.M.	₹ 747.72	₹ 2,273.08
9	Supplying EPDM gusket of approved make and brand as per direction of Engineer in charge. i) For sliding windows b) 'U' shaped EPDM gasket for frames.	12.400	Sq.M.	₹ 16.97	₹ 210.40
10	Supplying Weather Silicone sealant of approved make and brand for fixing of grove line between the Glasses as per direction of Engineer-incharge. for Structural Glazing/Curtain wall. Weather Silicone sealant for filling the Grove line between Glasses or any other material for facial work		Sq.M.	₹ 64.48	₹ 799.53

11	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to IS: 732-1983 and IS: 1285- 1975; Annodized (with required film thickness and specified colour / natural) matt finished conforming to IS: 1868-1983 for fabrication of composit door, sliding & casement windows, partitions, formed of basic sections of any ISI embossed / certified make and brand as per direction of Engineer - InCharge. (A) In 10-12 Micron thickness Annodizing film a) 2- track sliding window					
	i) Bottom frame	2.800	Metre	₹ 246.60	₹ 690.48	
	ii) Top and side frame	3.000	Metre	₹ 220.58	₹ 661.75	
				₹ 47,357.31		
	Rupees forty seven thousand three hundred fifty seven only					